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p.27,16: 0C,={--, v, 20}0 — 0OC,={-,51+23=20}0
p.35,1.9: 00000 — 000 a>-—-oco 00000

p.35,113: O0---0 0000000000000 a=-00c00000 f(x)=—-0c0o00000
00000000000 (220000000

p.64, 1.16: Oepi f'(x,- )0 — Oepif'(x;-)0

p.106,1.8-1.14: 000000000000 60000 f(x) 2 f(x)000MOO0O0O00O0O0ODO
0000000000 (3.7000 2290000000000

p.153,1.8-1.9: 0P(w) #0000 0000000000 e 000000000O0O0OOO0O
D0 «0000000000D000DOO0DODODODODOODOOODOO0

p.154, 00 x1): 025000000 — 026000000

p.232, 000 14-1.3: OO0O0O0O SC Sy 00pob0om — OzOOOOOQOODOOO
SNQCSeyNQDOO00D0OOOMm

p.237, 000: D00 2000000000000DL0O0DOO0

p.244, 00 35): Opp. 1832830 — O pp. 183-2380



